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Simplifying Expressions (D)

Simplify each expression.

ca+1+c—45az+T1u> +62 —TTac — u?

35au +55av — 86uv+1+54 +51a> +58 — 1

54 86u°
U Ay b—ct 2
54u u

64c3

451 —cv 12tz

—C

1—11—44+1—cu—1—53c
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Simplifying Expressions (D) Answers

Simplify each expression.

ca+1+c—45az+T1u> +62 —TTac — u?
= —45az+70u> — T7ac+a—+c+ 63

- 35au+55av — 86uv+1-+54+51a*>+58 — 1
= 35au + 55av — 86uv+51a* + 112

54 3
M 48b b — g N
54u u

— 86u’>+48bh —c+ 1

—b

643
. —C+51—cv-12v2+c+z+62
—C

= —12cv —63c* +c+z+51

| 1—_11—44+1—cu—1—53c
= —cu+y—53c—43
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